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QUESTION 1

What is a similarity between Layer 2 and Layer 3 switches? 

A. Both provide a high level of security to the network. 

B. Both use logical addressing to forward transmissions. 

C. Both forward packets onto the network. 

D. Both allow the implementation of VLANs. 

Correct Answer: D 

A single layer-2 network may be partitioned to create multiple distinct broadcast domains, which are mutually isolated so
that packets can only pass between them via one or more routers; such a domain is referred to as a virtual local area 

network, virtual LAN or VLAN. 

LANs are layer 2 constructs, so they can be supported by both Layer 2 and Layer 3 switches. 

Incorrect: 

Not A: Layer 2 switches do not provide high level of security. 

Not B: Another name for logical address is IP address. Only Layer 3 switches uses IP address. Layer 2 switches uses
MAC addresses. 

Not C: only Layer 3 switches forward packets on the network (like routers). 

 

QUESTION 2

What is the bit rate for a North American T3 circuit? 

A. 6.312 Mbit/s 

B. 44.736 Mbit/s 

C. 274.176 Mbit/s 

D. 400.352 Mbit/s 

Correct Answer: B 

Data Rates. DS3/T3 = 44.7 Mbps 

 

QUESTION 3

For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct selection is
worth one point. 
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Hot Area: 

Correct Answer: 

 

 

QUESTION 4

Where in the diagram is a T3 connection possible? (To answer, select the appropriate connection in the diagram in the
answer area.) 

Hot Area: 
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Correct Answer: 
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QUESTION 5

Attenuation in a wireless network signal is a result of: 

A. Number of wireless nodes connected. 

B. Distance from the access point. 

C. Interference from cellular phones. 

D. Encryption of the signal. 

Correct Answer: B 

Solid objects greatly attenuate (reduce) Wi-Fi radio signals, so clear line of sight is best. 
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